NECK SPLINE JIG

4x M4x16 Screws (¥)

2X Mé Plastic Caps

2X M4x16 screws (***)

2x Acrylic Sides

2Xx M6 Handle

=

1. Start by screwing the Router Base, use 4 screws M4x16 (") 2 M5 Handle (]

2.Fix the acrylic sidewalls to the Aluminium Base, with 8 screws

MBx16 ("),

N\

\)

3.doin the Router Base to the rest of thejig using 2 screws M4x16
(). These screws also work aspivots tomove theRouterBase 8% Mox16 Screws (™)
upand down. There are 3 positions to choose from, depending on
the headstock angle.

4. Place the M5 handles (") screwed to the Router Base, hut on

the outside of the acrylic sidewalls. 2x M5x50 Hex Screw

9.The MG handle has two positions to choose from. The MG Plastic
Gaps (which protect the headstock) must be tightened only after
the MG Handles pass through the acrylic sidewalls.

2X Méx16 Screws

I1x Neck Bracket

6.5etup the parts that areleft according to the scheme, or check N
our video on our YouTube channel. Aluminium Base




